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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-10_0
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P3-10

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

08:00 283 150.0 2.888 [Z=| 1Ri%e08:00 Bzh (REEESR)
08:50 283 150.0 2.888 |Z=| {Ri%e08:50 Bal (KREAEEE)
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P3-10

ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE
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P3-10

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:05 283 150. 0 2.888 S| {Ri&e07:05 Bal (REAERHSE)
07:45 283 150.0 2.888 BE| {Ri&e07:45 B (REAEHE)
08:50 283 150.0 2. 888 RS {Ri%e08:50 Bz (REAERESE)
09:35 283 150.0 2.888 BE| {Ri8&e09:35 Bl (REAEESE)
10:20 283 150.0 2.888 S| Ri%@10:20 Bz (REEESE)
11:00 283 150.0 2. 888 el Rige11:00 Bz (REAERSE)
11:35 283 150.0 2.888 el Rige11:35 Bal (REERESE)
12:05 283 150.0 2.888 el Rige12:05 Bzl (REAEHSE)
12:40 283 150.0 2. 888 B Rige12:40 Bz (REAERE)
13:15 283 150.0 2. 888 | Rige13:15 Bal (REAEESE)
13:50 283 150.0 2.888 B 1Rige13:50 Bah (REAEESE)
14:25 283 150.0 2.888 BS| 1Ri%e14:25 Bz CGREMEESE)
15:00 283 150.0 2.888 RSl Ri%@15:00 Bz (REERESR)
15:40 283 150.0 2.888 BE| Rige15:40 Ba (REAEHSE)
16:25 283 150.0 2.888 BS| 1Ri%e16:25 Bz (GREMEESE)
17:25 283 150.0 2. 888 BE| Ri%e17:25 B (RF{EREE)
23t 4528.0 (16)%) 2400. 0 3233 %EC: 2060, PH: 5.8

MEREHLER 2 5 MEIELRTT (184.0 :
ZRIALBRIERE153.0 ml.

FRAVFE NS RiFEi&PH 5. 85
HEERECE (1847.0 vs 3877.0) 5
FREVRIN S K IKEC 2057. 0

153.0), AlEEHT—@ % XA HS




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=70 (2025-06-11)

T e g g e S S B S g

100 A
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VI,Vgnﬁﬁv,ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET

2300
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Warning: lcol [FVI',| "FVO’'] missing

2000

. v
FRV

Warning: lcol ["WC1',  "WC2'] missing

40
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- 3000
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optEC0=2571.0,

setECB=2060

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5,

setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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P3-10

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:05 283 150.0 2.888 B 1Rige07:05 Bzh (REEESE)
07:45 283 150.0 2. 888 RS {Ri&e07:45 Bz (REAERE)
08:25 283 150.0 2. 888 BE| {Ri&e08:25 B (REEEE)
09:10 283 150.0 2.888 RSl Ri&e09:10 Bal (REEHE)
10:05 283 150.0 2.888 BS| 1Ri%e10:05 Bz (GREMEEEE)
10:55 283 150.0 2. 888 sl {Ri&@10:55 Bal (REEESE)
11:35 283 150.0 2.888 S| 1Rige11:35 Bah (REERESE)
12:15 283 150.0 2.888 Bl Rige12:15 Bz (REAERE)
12:55 283 150.0 2. 888 BE| Ri%e12:55 Bz (RFA{ERE)
13:30 283 150.0 2.888 el Rige13:30 Bal (REAERESE)
14:10 283 150.0 2.888 BE| Rige14:10 Bz (REAERE)
14:50 283 150.0 2. 888 B Rige14:50 Bz (REAERSE)
15:30 283 150.0 2.888 el Rige15:30 Bal (REEESE)
16:20 283 150.0 2.888 BE| Rige16:20 BHal (REAEHE)
17:20 283 150.0 2. 888 BE| Rige17:20 Bz (REAERSE)
Bit| 4245.0 (15%%) 2250.0 EPUHKEC: 1990, PH: 6.0

MEREHLER 2 5 MEIELRTT (184.0 :
ZRIALBRIERE150. 0 ml.

FREVE NS KiHKPH 6. 005
HEEIHECE (1887.0 vs 4143.0) 05
FREVRIN S K IKEC 1989. 0

150.0), FAEEHT—@ % XA HS




P3-10_0, Day=69 (2025-06-10)

1 e g g e S g B S g

100 A

50

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2208

1700
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80
Warning: lcol [FVI',| "FVO’'] missing

2760 [ 3000
2300 250
715 2000

- 1000
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0

120

0.8 A

0.6

Warning: lcol ["WC1',  "WC2'] missing
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- 200
—— e e e s S s==— naxie ] 150
- 100

- 50

optEC0=2486. 0, setECB=1990

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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Bylnit @D72 11:48: ET=2176 Fg=2550.0 Ro=543.0
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m=440, FV0=0 m=475, FV0=0 m=535, FV0=0

M_E —o— ME 25 50 - —o— ME | 55 —o— ME
24.0 -
25. 25 1
26.0 1
235 25. 00 4
24,75 -
25.5 -
23.0 - 24,50 A
24. 25 25,0
T T T T T T T T T T T T
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m=580,m FV0=0 m=630,m FV0=0 m=675,m FVO=0 m=715,m FV0=0
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27.0 - 27.5 -
27.0 -
26.5 1 27.0 4
26.5 4
26.0 4 26.5 4
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T T T T T T T T T T T
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26. 50 4
895 900 925 930 935 960 965 970 1030 1035 1040



m=440, FV0=0 m=475, FV0=0 m=535, FV0=0
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P3-10

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

05:40 283 150.0 2.888 FH| 1BRi%@05:40 Bzh (KkABERESE)
06:40 283 150.0 2.888 FE| 1BRi%@06:40 B (FkAERSE)
08:15 283 150.0 2.888 |Z=| {Ri%e08:15 Bzl (KREAEREE)
10:00 283 150.0 2.888 |Z=| {Ri&e10:00 Bz (KEAEHSE)
11:05 283 150.0 2.888 |Z=| {Rige11:05 Bz (REEHE)
12:05 283 150.0 2.888 |Z=| 1BRige12:05 Bzh (RAEESE)
13:15 283 150.0 2.888 |[/\if| 1Ri%e13:15 Bzh (GREEESE)
14:00 283 150.0 2.888 FH| 1Ri%@14:00 B3h (KAERSE)
14:45 283 150.0 2.888 FE| 1BRi%@14:45 Bz (kBERSE)
16:00 283 150.0 2.888 |Z=| 1Bige16:00 Bzh (RAEREE)
21t 2830.0 (10)%) 1500. 0 U KEC: 1920, PH: 6.0

MEREHLER 2 5 MEIELRTT (184.0 :
ZRIALBRIERE153.0 ml.

FREVE NS KiHKPH 6. 005
HEEIHECE (1897.0 vs 4205.0) 45
FREVRIN S K IKEC 1920. 0

153.0), AlEEHT—@ % XA HS




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1000 A

P3-10_0, Day=68 (2025-06-09)

150 A

100 A

50

V1, V8RRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2600
2208

252

20 80
Warning: lcol [FVI',| "FVO’'] missing

120

976 1700 836 L 2000

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2400. 0, setECB=1920

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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